CHECK YOUR UNDERSTANDING
Question No. 1 A Chinese soft drink company is planning to establish a subsidiary in Nepal to produce a mineral water. Based on the estimated sales of 40,000 bottles of the mineral water, cost studies produced the following estimates for the Nepalese Subsidiary:
	
	Total annual cost
	Percent of total annual cost which is variable

	Material
	210,000
	100

	Labour
	150,000
	80

	Factory overhead
	92,000
	60

	Administration Expenses
	40,000
	35



The Nepalese production will be sold by manufacturer’s representatives, who will receive a commission of 8% of the sale price. No portion of Chinese office expenses is to be allocated to Nepalese subsidiary. You are required to calculate:
1. Compute the sale price per bottle to enable the management to realize an estimated 10% profit of sales proceed in Nepal.
2. Calculate the breakeven point in Rupee sales as also in number of bottles for the Nepalese Subsidiary on the assumption that the sale price is Rs.14 per bottle.
  Question No.2 (ICAN June 2015) Mr. X has Rs. 200,000 investment in his business firm. He wants a 15% return in his money. From an analysis of recent cost figures, he find that his variable cost of operating is 60% of sales; his fixed cost are Rs. 80,000 per year. Show the computation to answer the following questions:
1. What sales volume must be obtained to break even?
2. What sales volume must be obtained to get 15% return on investment?
3. Mr. X estimates that even if closed the doors of his business, he would incur Rs. 25,000 as expenses per year. At what sales would he be better off by locking his business up?
